B I (Three Year G)
Under 1+1+1 System

2018
ECONOMICS (General)
FIRST PAPER
( Revised New Syllabus )

Time : 2 hours Full Marks : 50
The figures in the margin indicate Jull marks.
GROUP—A
1. Answer any five questions : 2x5=10

(@) Mention two exceptions to the law of
- demand.

(b) What do you mean by normal gqods?
(c) Define production function.

(d) When does a budget line shift?

(e) What is Engel curve?

(f) Is there any fixed cost in marginal cost?
Give argument.
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(9)

(h)

Answer any two questions :

2. (a)
(b)
3. (a)
(b)

(2)

Mention two properties of indifference
curve.

What is opportunity cost?

GROUP—B
10x2=20

What do you mean by marginal utility?

Discuss the law of diminishing marginal
utility with the help of a suitable

diagram. 2+8=10

Define price elasticity of demand.

How would you measure price elasticity
of demand at a point on a straight line
demand curve? 2+8=10

4. Establish the relationship between average
revenue (AR), marginal revenue (MR) and
price elasticity of demand (ep) under
imperfect competition and perfect competition. 10

5. (a)

(b)

8MRD/299

Distinguish between fixed cost and
variable cost.

Show the relationship between average
cost and marginal cost with suitable

diagram. 5+5=10

( Continued )

(3)

GrRouP—C
Answer any one question : 20
6. (a) How is equilibrium of a consumer
established in the indifference curve
theory?

() Examine the change in this equilibrium

with the help of diagram when—
(i) income of the consumer increases;
(i) price of a commodity falls. 8+(6+6)=20
7. (a) What is demand?

(b) What are the factors that determine
demand?

(c/) Discuss how income elasticity of
demand is determined from Engel
curve. 2+8+10=20

8. (a) Discuss the law of variable proportions
with the help of a suitable diagram.

(b) What are the causes of increasing
returns to scale? 14+6=20
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B I (Three Year G)
Under 1+1+1 System

2018

ECONOMICS (General)

SECOND PAPER

( Revised New Syllabus )

Time : 2 hours Full Marks : 50

The figures in the margin indicate full marks.

GROUP—A

1. Answer any five questions : 2x5=10

() What are the two main propositions
of Say’s law?

(b) What is effective demand?
(c) What is meant by depreciation?
(d) Define fiat money.

(e) What will be the value of the multiplier
if the value of MPC = 17

() Why is beggars’ income not included
in national income?
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(2) | (3)

(g9 What do you mean by open economy? 7. (a) Distinguish between classical and

i Keynesian views of employment.
(h) What is meant by optimum capital o

Stocks (b) Critically evaluate the classical theory of
employment. 10+10=20
GROUP—B
Answer any two questions : 10x2=20 8. (@) What is marginal efficiency of capital?
: ! ol
2. Discuss the problems of measuring national (b) Show the relationship between margi

; ; ; i i d rate of interest.
income in the underdeveloped countries. efficiency of capital an

(c Is per capita national income a
3. Write a short note on Keynesian true indicator of economic well-being?
consumption function. Justify. 3+7+10=20

4. What is investment multiplier? Discuss the
role of investment multiplier in LDCs.

5. Explain critically Fisher’s version of the
quantity theory of money.

GROUP—C

Answer any one question : 20
6. (a) What is price index?

(b) How would you use the price index to
measure changes in the value of
money?

(c) What are the problems in constructing
price index number? = a0 Ho=20

8MRD/300 ( Continued ) 8MRD/300 ( Turmn Over )




(4)

[ BENGALI VERSION |]

Re—=

Y1 @- b aee Tey we : yx@=>%0
(F) or7 Ritw b aem vosbram Sae 91
(%) IR wiRw 2
(51) SOH FCF ¢ 2
(9) 5 (Fiat) 1-9q ige 718 |
(6) MPC-97 41 1 Z(#, GIF T F© 2(J ?
(v) fORIfR I SR SR T¢ 4= 2 A1 (9 ?
(&) T LA Foe & =02

(&) 0 ToLe T oo F @& 2

fem—
@~ 46 40 Tag 18 Sox3=30

3| TEEe origleice wrer Wi AfRuiee SRy
AL 9 |

O (FEAAT (I WPHEHI O G0 Afene Bl (@9 |

8MRD/300 ( Continued )

(5)

8| fffcms @9 9 LDC-co ffea aaq g
A | .

@ | AL Sdfd AR $0g R S/ ik 99 |

fRein—t
- qFo ACE Teq 7S 30
O (#) W e 2
(1) " P RYE YW fFEd s g
“[fSEe “{f1e e 2
(o) %R 363 SR N (G TS {2

8+30+b=30

U (F) FPRE 8 @2 FHEE weg A [y

91
(1) SWeEsPR Faes FteE ety TR
9| So+y0=30

vl (%) TR v wwel $ 7

(4) T eifes wPel 4R 0 AT Neg THF
femel, O orars |

(s) WRerg o & wAafes Tmgew @@l A
5 ? (IR TGO FAH IPE TS | o+a+d0=30

8MRD/300 ( Turn Over )




B I (Three Year G)
Under 1+1+1 System

2018

ECONOMICS (General)

THIRD PAPER

( Revised New Syllabus )
Time : 2 hours Full Marks : 50
The figures in the margin indicate full marks.

GROUP—A

1. Answer any five questions : 2x5=10

(a) What is ‘Operation Barga’?

(b) What do you mean by Green
Revolution?

fc) What do you mean by ‘dual economy’?
(d) What are the objectives of MGNREGA?
(e} Define ‘poverty line’.
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(2) (3]

(l What are the main objectives of IRDP? 7. (a) What are the causes of poverty in India?
(g9 Mention two features of Indian Human (b) Discuss the different measures adopted
Capital. by the Government of India for
(h) What do you mean by ‘overpopulation’ RivBARG D8 HOL L
GROUP—B 8. (a) Discuss the changes in the sectoral
composition of India’s national income
Answer any tweo questions : 10%x2=20 during the plan period.
2. Write a note on the role of NABARD in (b) What are the major causes for
providing rural credit in India. increasing income inequality in India?
10+10=20

3. Discuss briefly the factors responsible
for population explosion in India.

4. Discuss the different causes of low
productivity of Indian agriculture.

5. Distinguish between developed economy and
underdeveloped economy.

GROUP—C
Answer any one question : 20

6. (a) Explain the important features of the
policy of land reforms in India.

(p) Do you think that the policy of land
reforms is successfully implemented
in India? 12+8=20
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B II (Three Year G}
Under 1+1+1 System

2018

ECONOMICS (General)

'FOURTH PAPER

( Revised New Syllabus )
Time : 2 hours Full Marks : 50
The figures in the margin indicate full marks.

GROUP—A

1. Answer any five questions : 2x5=10
(@) What is scarcity rent?

(p) What is meant by differentiated
product?

(c/) What is collective bargaining?
(d) What do you mean by duopoly?
(e} What is dumping?

(i What do you mean by monopoly power?
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(2)

(g) Distinguish between real wage and
*  money wage.

(h) Define normal profit.

GROUP—B

Answer any two questions : 10x2=20

2. (a) Discuss the characteristics of the
perfectly competitive market.

(b) How does it differ from pure competitive
market? 6+4=10

3. Show with a suitable diagram that a
monopolist can never be in equilibrium if
elasticity of demand is less than unity. 10

4. Critically discuss the marginal productivity
theory of distribution. 10

5. (a) Distinguish between gross profit and
net profit.

(b} In what ways does the nature of profit

differ from the incomes of the other
factors of production? 4+6=10

8MRD/378 ( Continued )

(3)

GrROUP—C

Answer any one question : 20

6. (a) Explain the shutdown point and
break-even point of a firm in terms of a

diagram.
(b) Graphically explain the short-run

equilibrium of a firm under perfect
competition. 10+10=20

7. Critically explain Ricardian theory of rent. 20

8. (a) When is price discrimination possible?
(b) Is price discrimination desirable?

(c) Explain how equilibrium price and

quantity are determined when a

monopolist practises price discrimi-
nation in two markets. 4+3+13=20
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B II (Three Year G)
Under 1+1+1 System

2018

ECONOMICS (General)

FIFTH PAPER

( Revised New Syllabus )

Time : 2 hours Full Marks : 50
The figures in the margin indicate full marks.

GROUP—A
1. Answer any five questions - 2x5=10
(a) What is liquidity trap?

(b) What do You mean by varigble reserve
ratio?

() What is ‘terms of trade”?

(d) Mention two sources of external public
debt.

fe) What do You mean by tariff ?

() What is meant by impact and incidence
of taxation?

8MRD/379 ~ ( Tum Over )

S R e o



(2)

fg) What is stagflation?

(h) Give two examples of indirect tax.

GROUP—B

Answer any tweo questions : 10x2=20

2. Discuss the functions of commercial bank. 10

3. Discuss the effects of inflation on production
and income distribution. 10

4. “Balance of trade is always balanced.”
Explain. 10

5. (a) Explain open market operation.

(b) How does it help to control the volume
of credit? 4+6=10

GROUP—C

Answer any one question : 20

6. (a) Explain Adam Smith’s absolute cost
advantage theory.

(b) What are its limitations?

fc) Suggest some measures to remove its
limitations. 10+5+5=20

8MRD/379 ( Continued )

( 3)

7. (a) Distinguish between direct and indirect

taxes.

(b) What is inflationary gap? Explain it with

a suitable diagram.

10+10=20

8. (a) How is the equilibrium rate of interest
determined in the liquidity preference

theory?

(b) What are the limitations of the theory?

8MRD/379

14+6=20
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B II (Three Year G}
Under 1+1+1 System

2018

ECONOMICS (General)

SIXTH PAPER

( Revised New Syllabus )
Time : 2 hours Full Marks : 50

The figures in the margin indicate full marks.

GROUP—A

1. Answer any five questions : 2x5=10
(a) Define reserve money.
(p) What is meant by ‘plan holiday’?
(c) Define globalization.
(d) What is social security?

(e) What are the main sources of revenue of
the State Governments?

(/) What are the non-traditional items
which are being increasingly exported
by India recently?
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(2)

(9) What do you mean by capital market in
India?

(h) What do you mean by fiscal policy?

GROUP—B
Answer any two questions : 10x2=20

2. Discuss the broad objectives of 12th
Five-Year Plan in India.

3. What are the causes of industrial disputes in
India? Explain.

4. Explain why commercial banks were
nationalized in 1969.

S. Discuss the major weaknesses of Indian
Trade Union Movement.

GROUP—C

Answer any one question : 20

6. (a) Discuss the recent causes of the deficits
of India’s balance of payments.

(b) What are the measures taken by the
Government of India to improve this
situation? 10+10=20

8MRD/380 { Continued )

(3)

Critically examine the allocation of financial

7.
resources between the Centre and the States
under the Constitution of India. 20
8. State the main quantitative and qualitative
measures of credit control by the RBL 20
( Turn Over )
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B III (Three Year G)
Under 1+1+1 System

2018

ECONOMICS (General)

SEVENTH PAPER

( Revised New Syllabus )
Time : 3 hours Full Marks : 100

The figures in the margin indicate full marks.

[ DEVELOPMENT ECONOMICS 1

GROUP—A
1. Answer any five questions : 2x5=10
fa) What are the components of HPI?

(b)) What do you mean by disguised
unemployment?

(c) Mention two necessities for foreign
investment in developing countries.

(d) What do you mean by economic
planning?

(e) Distinguish between growth and
development.
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(2)

(/) What do you mean by balanced growth?

fg) What is capital-intensive technique?

(h) State two adverse effects of pPopulation
growth on economic development in a
developing economy.

GROUP—B

Answer any two questions : 10x2=20

2. (@) cCan per capita income be used as an
index of economic development? Give
your arguments.

(b)) Do you think that HDI is a better
measure than the per capita income?

6+4=10
3. Discuss the interdependence between
agriculture and industry in a developing
€conomy. 10

4. (@) What do You mean by foreign direct

investment (FDI)?

(b) Discuss the role of FDI in g developing
country, 2+8=10

S. What do you mean by optimum population?
Discuss the theory of optimum population
with the help of a suitable diagram. :

8MRD/14
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(5)

11. What is sample
advantages and disadvantages ©

survey.

12. Calculate arithmetic mean

survey? Discuss the
f sample

2+8=10

(AM) from the

following data : 10
Daily wage Number of
(in ) labourers
35-45 12
45-55 25
55-65 30
65-75 18
75-85 10
8595 4
13. Calculate mean deviation about mean from
the following data : 10
Class interval Frequency
10-15 4
15-20 12
20-25 16
25-30 22
30-35 10
3540 8
40-45 6
45-50 4
( Turn Over )
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(7))

] from
8 ) lat standard deviation (SD)
Calculate | :
s the following data o
GrRoOUP—C Number
ight ns
Answer any one question : 20 E/:tig] p er530
14. Discuss relative merits ang demerits of 40-49 10
range, mean deviation and standard 50-59 29
deviation as measure of dispersion, 20 6069 7
15. (a) Describe less than type ogive and more 70-79 8
than type ogive. 80-89 10+10=20

(b) Draw both less than type and more than
type ogives from the following data -

Height (in cm) No. of boys
120-124 12
125-129 25
130-134 28
135-139 15
140-144 12
145-149 8
8+12=20
16. (a) Calculate median from the following
distribution :
Class Frequency
30-35 8
35-40 12
40-45 10
45-50 8
50-55 12
55-60 10 ( Turn Over )
60-65 13
65-70 17 gMRD/14
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